TYPES OF TRIANGLES ('Y< & TPR)
TRIANGLE (FAYe)

+» A triangle is a 3-sides polygon that consists of three edges and three
vertices.
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+* 3 sides, 3 vertices, 3 altitudes, 3 angles
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TYPES OF TRIANGLES (RIY & ToR)
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BY SIDE (YSIT3ff & SITHUR TX)
 Equilateral Triangle / WTE%‘{-[\_!T
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% Isosceles Triangle /Wﬁa'l_g'ﬁ'{-[ﬁ

two angle same/aaﬁmw
% Scalene Triangle / ﬁmﬁ‘ljﬁ[

three unequal angles / T SEGH HI0T
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BY ANGLE (H1UN & STYR WR)
% Acute Angle Triangle / <g-1 G| ﬁ"{-[\_r[

All three angles < 90°/?‘ﬂ:f PHI0T < 90°

Bt C
One angle is 90°. B = 90° and £A + 2C = 90°
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One angle > 90° / T HIUT > 90°

% Let «B = largest angle / AT «B JaY 981 HIUT
side AC = b = largest side
YT AC = b = T To! Yol




B a C
Let £C = smallest angle (AT 2C T&Y BICT HI0T)
side AB = c = smallest side
YSIT AB = ¢ = Jad DIt Yol
% Inequality of triangle (ﬁf‘ﬂﬁr ) GI'\‘:lﬁﬁv‘l"E)
The triangle inequality states that for any triangle

the sum of the lengths of any two sides must be

greater than the length of the remaining side.
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% |b-c|] <a<b+c



B a C
la-c| < b < atc
la-b| < ¢ < a+b
% Inequality of Triangle / ﬁ‘{-ﬁr P UTAT
eg: 4,9, 15 A not possible/ﬁﬁﬁmﬂ—é}f 4+9<15
510,15 A not possible/ﬁﬂiﬁlﬂﬂ-ra:l—é:f 5+10=15
7,12, 15 A is possible/ YT GG g 7+12 > 15
OR /7+15>120R 12+ 15 >7
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Sum of any two sides is always greater than 3rd side.
=Y off g yemait &1 A g S Yy A sET R B
atb>c—=b>c-a

btc>a=b>a-c

cta>b = |c-a|<b<c+a



Difference of any two sides is always less than 3rd side.
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% 1f 10,17, x are sides of a A, x — integer
Then7 < x <27
x—(8,9,10,.... 26}
Xmin = 8, Xmax = 26

Xiotal = 19 values possible / 19 A9 J4d

19 A's possible / 19 Y GHT |

Possible values of x = 2xsmall side -1

= 2x10-1=19

XD HUIIT M = 2 x BICT YST-1=2x10-1=19



